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Mixed Stoichiometry Practice
For the problems involving gases, assume that the reactions are being performed at STP
1)
Given the reaction:




4NH3(g)  +  5O2(g)      (        4NO(g)  +  6H2O(l)

What is the total number of moles of products formed when 1.20 moles of ammonia reacts?  

2)
Ethylene burns in oxygen to form carbon dioxide and water vapor:

C2H4(g) + 3 O2(g) ( 2 CO2(g) + 2 H2O(g)
How many liters of carbon dioxide can be formed if 1.25 liters of oxygen are consumed in this reaction?

3)
Calcium carbonate decomposes at high temperatures to form carbon dioxide and calcium oxide:

CaCO3(s) ( CO2(g) + CaO(s)
How many grams of calcium carbonate will I need to form 3.45 liters of carbon dioxide?

4) 
Given the following reaction:



H2SO4 (aq)  +  2NaOH (aq)   (    H2O (l)  +  Na2SO4 (aq)
How many moles of water are produced if 2.0 grams of sodium sulfate are also produced?

5) 
A car air bag requires 70.0 L of Nitrogen to inflate properly.  The following reaction represents the reaction:



2 NaN3(s)     →    2 Na (s)    +    3 N2(g)
How much sodium azide (NaN3) is needed to generate the proper amount of nitrogen gas to fill the air bag?

6)
When chlorine is added to acetylene, 1,1,2,2-tetrachloroethane is formed:

2 Cl2(g) + C2H2(g) ( C2H2Cl4(l)

How many grams of chlorine will be needed to make 75.0 grams of C2H2Cl4?

